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% (B) 47K =
R TR 100
BRTER 100
[EEN S 100
LTHEAR 100
[ R AZ Ui 7 B 100
Brh#E R 99. 63
ML T2 & 99. 50
R S TR R 99. 25
AT TR R 96. 94
Y iE et 92. 50




M H B & T8 & S
2021-12-03 P SR AR 35 EE 3321 =
2021-12-03 ERIER 3 SR 3507 =
2021-12-03 BERIER 35 E 3511 E
2021-12-03 HLHE TR R 6 ‘SN ERE 6213 =
2021-12-02 P SR R 3TN E A 3235 E
2021-12-02 SEILRER 3TN E R 3425 E
2021-12-02 HHHE S 6 5 A 6333 =
2021-12-02 BHHHE T 6 T A 6411 =
2021-12-02 BHHHE 6 5 H A% 6435 =
2021-12-01 SEILRER 2 5 NEE 2614 E
2021-11-30 BERIER 1 S8 1534 =
2021-11-30 Tkl EETRER 2 5 NEM 2136 =
2021-11-30 P SRR 2 SR 2533 =
2021-11-30 BHHE Y 5 5\ E R 5528 =

M H B & 855 5 [ 5 HE

2021-12-03 BHHE ¥ 35 NEMK 32260 = Ho A Sk

2021-11-30 Tl TR 2 S NEM 2227 Ho A Sk
K H SR T8 & RALS

2021-12-02 Tl TR 6 T ERE 6215 =

M H B & T8 & RALS
2021-12-02 FERli 0 2 S5 RAEM 2110 Z(2)
2021-12-01 BHHE b 35N 3224 = (4)
2021-12-01 Tkl 5 TER 6 T AEM 6107 = (1)
2021-11-30 ML TR 2 SN EM 2425 = (6)
2021-11-29 I TR 2 SR EM 2222 = (5)
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